Selection PP STt o t)?(l) pp — bb,b — bf? pp — 44,9 — qf{?

my = 700 GeV m; =650GeV  myg = 1000 GeV

My = 50GeV Moy = 1GeV Moy = 100GeV
Niet > 2 99.840.0 98.2+0.1 98.9 £ 0.1
Hr > 300 GeV 96.4 4 0.1 95.4+0.1 98.6 + 0.1
Hiss > 300 GeV 57.840.3 59.8+0.2 80.00.3
Ninuon = 0 46.6+0.3 59.6 +0.2 79.9+0.3
(muor) =0 46.140.3 59.540.2 79.8+0.3
Nelectron = 37.4+0.3 59.2+0.2 79.6+0.3
(clectron) =0 36.940.3 59.040.2 79.3+0.3
(hadron) e =0 35.8+0.3 58.5+0.2 78.7+0.3
Ay > 0.5 35.7+0.3 58.4+0.2 78.6+0.3
AP pyiss;, > 0.5 34.0+0.3 55.740.2 745403
AP pmiss; > 0.3 33.1+0.3 53.340.2 70.6+0.3
AP piss;, > 0.3 31.840.3 51.6 0.2 67.940.3
Event quality filter 314403 50.8+0.3 67.1+£0.3

Selection pp — t,t — ty0 pp — bb,b = bx" pp — qq,q — 9X°

my = 300 GeV my = 500 GeV mg = 700 GeV

Mo = 200 GeV Mo = 300 GeV Mo = 400 GeV
Nt > 2 86.9 £ 0.0 96.0 £ 0.1 98.0 £ 0.0
Hr > 300 GeV 23.3+0.0 68.0+0.1 91.3+0.1
Hss > 300 GeV 2.8440.0 15.6+0.1 43.840.1
Ninuon = 0 2.1640.0 15.6+0.1 43.840.1
(muon e =0 2.10+0.0 15.5+0.1 43.7£0.1
Neleetron = 1.60 + 0.0 154 +0.1 43540.1
(electron) e =0 1.52+0.0 153+0.1 43.4+0.1
(hadron) o =0 141400 152+0.1 43.040.1
Ay > 0.5 1.40+0.0 15.1+0.1 429401
Ay > 0.5 1.03+0.0 14.1+0.1 411401
Ay > 0.3 0.85+ 0.0 13.5+0.1 39.6+0.1
Ay, > 0.3 0.73+0.0 13.1+0.1 38.4+0.1
Event quality filter 0.72+0.0 12.940.1 37.9+0.1



